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NB. -—-—-parts--—------—-——=————— e~

Fl=: ’ fd 1’

Fr=: ’ fd r36’ NB., -
B36r=: ’ bk r36 rt 36’ L361=: ’ 1t 36 fd 1’
NB. ------mmmmmm - L36r=: ' 1t 36 fd r36’
R361= rt 36 £d 1’ L721=: ’ 1t 72 fd 1’
R36r= ’ rt 36 fd r36’ L72r=: ’ 1t 72 £d r36’
R721=: ’ rt 72 £d 1’ L1081=: ’ 1t 108 fd 1’
R72r= rt 72 fd r36’ L108r=: ’ 1t 108 fd r36’
R1081=: ’ rt 108 fd 1’ L1441=: ’ 1t 144 fd 1’
R108r=: ’ rt 108 fd r36’ L144r=: ’ 1t 144 fd r36’
R1441=: ’ rt 144 fd 1’ sin36

Rl44r=: ’ rt 144 fd r36’ r36= Giniog = 0618034
R1801=: ’ rt 180 fd 1’

R180r=: ’ rt 180 fd r36’

000o0o00o0obOO0oo0ooObOOo0ooDbOoOoOooDbOoOooobooOoon
penlG:: repeat 10 ;_rt 36 fd r36’ NB. 10gon
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00000 ldooooooooog
penlG=: repeat 10 ; R36r

0.2 save

gobooobooooooooo

emfO00 O save tempfoo.emf’

Clipboad 0O clip”
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figure_explain=: 0 : 0

point O

1t 18 fd 1 point 1

rt 72 fd 1 rt 72 £fd 1 rt 72 fd 1 point 2
rt 72 £fd 1 point 3

rt 144 fd 1.6 1t 144 fd 1.6 1t 144 fd 1.6
rt 144 fd 1 rt 108 fd 1.6 rt 144 fd 1.6
rt 144 fd 1 point 4

rt 108 fd 0.6 point 5

)

point_explain=: 3 : 0

show figure_explain

label 0

label 1 0.05 0 ;2; ’'B’
label 2 0.05 _0.05 ;1; 'C’
label 3 _0.05 0.05 ;2; ’A’
label 4 _0.05 _0.05 ;1; ’'D’
label 5 _0.05 0.05 ;2; ’E’
addlabels’’

)
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sinl08  sin36
1 x
sin36
X = m =0.618034

ooooo
OODABDE)D 36°,36° 720,21 000 1000 0.6180340 00
000 ACDE)O 722,722,72°,14# 000 1000 0.6180340 00
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circ_1=: penll,(repeat 4 ; penll) NB. zu 1 stand alone

circ_0=: pen01,(repeat 4 ; pen02) NB. zu 0 stand alone
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arc2=: F1, pl1, R1801, p11

pen20=: circ_1,watariO,arc2, (repeat 4 ; watarl,arc?)

1.3 show
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pen50=: pen20, watari2,circ.11,circ 01x,repeat 4;(,B36r,cird 2,watari3,circ.01x)
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gobobooboboboobooog
require 'turtle’
gbobo bOooOoooooobooboobo

NB. rfd dfr is already setting in turtle
SIN=: 1&o0.@ rfd
r36=: (SIN 36) * % SIN 108 NB. sin law // sin thetal/L1 = sin theta2/L2

0 1000 .sl1C=: repeat10; rt 36 fdr36’ NB. 10gon
gboboboboog

NB., —--—-mmmmmmmmmm
pO1=: R1l44r,L36r ,R1441
pll=: R108r ,R36r, R1081
pl2=: R1081, R108r
pl13=:,R36r,R1081,R1801,R108r
pl4=: R36r,R1081,R1081,L1081
NB., —--—-mmmmmmmm
NB. figure 0

pen®l=: F1,p01

pen®2=: R1801 ,p01

NB. figure 1

penll=: R1801 ,pll

gooboood



NB. ----- object-----------mmm e
circ_0=: pen®l, (repeat 4 ; pen®2) NB. zu ® stand alone
1

circ_1=: penll, (repeat 4 ; penll) NB. zu 1 stand alone

circ_11=: L36r,R36r,R1081,R1081,R1801,L1081,R108r,p13,pl13,pl13,R36r
circ_12=: L36r,R36r,R1081,R1081,R1801,L1081,R108r,p13,p13,R36r,R1081
NB. ----- figure 0/1-mix--------———————————— o~

circ_0®1x=: L1441,L1081,pl12,R36r,R180r,pl4,L144r,R36r

NB. Arc of figure 1

arc_2=: F1, pll, R1801, pll
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NB. ------ watari------------------

watari_0=: R361 ,L108r NB. ’ rt 36 fd 1 1t 108 fd r36’
watari_l=: Fr,L36r NB. ’ fd r36 1t 36 fd r36’
watari_2=: R1801,R36r , ' 1t 144’

watari_3=: R1081,R108r
show O00O0O0OO0O0OOOO 20500000

NB. ----show------——----------————-
pen_20=: circ_1l,watari_0,arc_2, (repeat 4 ; watari_1l,arc_2)

pen_50=: pen_20, watari_2,circ_11,circ_01x,repeat 4;(,B36r,circ_12,watari_3,circ_01x)
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decta®=: repeat 10;’ rt 36 fd 1’
dectal=: repeat 10;’ 1t 36 fd 1’
dectad=:decta®,dectal, (L361,L361),decta®, (R1801,R361,L1081,R361,R361),dectal
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mkQ_5=: L721,m1,R1081,m2 ,(repeat
2;R1801,m1),R1801,R721,R1081
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2.3 show

mackey_6=: mkO0_5,mlx2c, (repeat 4; watari_m0®,mlx2c)
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mackey_xL=: mackey_6,’ rt 144’ ,mk®_5,R1801,mkl_51,( repeat 4;watari_m5,mk®_5,watari_m4,mkl_52)
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